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int* map = NULL; // W 2l0{=0]7].

int* path = NULL; [/ SO0ICI-l HA=E FEA|.
de_clue<pair<int, int>> _stack; /[ ZIE B
alst AEH

int x =0,y =0; // &zl Il

TR

A|ZZELE (0,0)= AEHO]| push_back

while (=% and '2AEH empty)

< AEH top SIZIZRE =2 IXIZE 37| -> AEH0]
push_back

o 2 3o AEHOA] pop_back
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#include <cstdio>
#include <fstream>
#include <iostream>
#include <vector>
#include <queue>
#include <deque>

using namespace std;
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int main(void) {

int rows, cols;
ifstream rFile("miro_input.txt");

int* map = NULL; // ¥ 0{=0|7].

int* path = NULL; / =OICtH =2 _-H-_M
deque<pair<int, int>> _stack;// Zt& H gt AEH
intx=0,y =0; // Sx 2.

if (rFile.is_open()) {

rFile >> rows >> cols;

map = new int[rows * cols];

path = new int[rows * cols];

inti =0;

for (int row = 0; row < rows; row++) {

for (int col = 0; col < cols; col++) {

rFile >> mapli++];
path[row * cols + col] = 0;
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/] AME R[S pushotd A AL

_stack.push_back(make_pair(y, x)); SIX| | X| 7} stack topOi &

pathly * cols + x] = 1; oL| 1S 7|FE0z Xl
bool arrived = false; ol Xta| &tH7].

while (I_stack.empty() && !arrived) {
y = _stack.back().first;
X = _stack.back().second;
bool moved = true;
while (moved) {
/] =8 X|Eel7t?
if (y ==rows - 1 && x == cols - 1) {
arrived = true;
break;
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moved = false;
if (x > 0 && maply * cols + (x - 1)]
= 0) {

&& path[y * cols + (x - 1)]
X =X - 1; moved = true; }
else if (y > 0 && map[(y - 1) * cols + x] ==
&& path[(y - 1) * cols + x] == 0) {
=y - 1, moved = true; }

else if (x < cols - 1 && maply * cols + (x + 1)] ==

&& pathl[y * cols + (x + 1)] == 0) {
X =X + 1; moved = true; }

else if (y < rows - 1 && mapl(y + 1) * cols + x] ==

&& path[(y + 1) * cols + x] == 0) {
y =y + 1, moved = true; }

(121X) A3
Sr=X] 3.

if (moved) { \ ifg ;;)Ipﬂ
pathly * cols + x] = 1; S @Az HA
_stack.push_back(make_pair(y, x)); ] ;Ol;’i
1 i} I:IEI-_'?_
else ==
_stack.pop_back(); \ 2742t Xt2| oo o
L A2 2 XQon [ 7 StaCkJ—|' pathOfl &2 HA|.

stack Of A

ofLt 7HH.

right, bottom
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/) 2Bl BE XHE =3,
int count = 0;
while (!_stack.empty()) {
cout << "(" << _stack.front().first << "”
<< _stack.front().second << ")" << " "
_stack.pop_front();

count++:
}
cout << "&E " << count << "7{"
return O; AlSH 74 7
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¢ AZBol= A2 E

e struct TimePos { // §1ZI} AlZISE F2.
_ inty; int X5 int time;

string arr[102]; // ™ 210{=0]7]|

®

® bool* visit = NULL; [| SEHIN. Y2 0{SHEA|.
® queue<TimePos) q; /] T

® intdyl[4] ={-1,0,1,0};// 9tskAMH

e intdx[4] ={0,-1,0,1};

28 &M

o AIXZIE (0,0)= 70l push+UEHA|

® while (!5 empty)

< TO0IM x, vy, cnt E 7L

< F[EX|HO0|IH cntZ £ 815} break

44 EE I U0 FEEH 7ol push+SZEA.

)
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L0
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111
#include <iostream> 110
#include <queue> 011
using namespace std; =
struct TimePos { 5
int y; /] TOW «—— 30| 223t L=
int x; /] col
oo e % F 20l S A2

Atk 10R2|7) A0[0] S0 =

int main() { . }
i = 0|80| ®a.
string arr[102]; = string0| &0| HE|

bool *visit = NULL; O 7|0 et SHOZ Stk HS o &,

/] & &F
int dy[4] ={ -1,0,1,0
int dx[4] ={ 0,-1,0,1

int rows, cols: <« lmio| 37
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cin >> rows >> cols;

Visit

new bool [rows*cols];

_~|meee Hoals ay
|IB2 092 X7|3},

memset(visit, 0x00, sizeof(bool) * rows * cols);

for (int i =0; i < rows; i++)

cin > arrl[il;

queue<pair<xXyY, int>> q;
ag.oush({ { 0,0 }, 1 });
visit[0] = true;




e BFS 0|2 EHH

while (lg.empty()) {
inty=aq.front().y;
int x =q.front(). §

int cnt = qg.front().time;
a.pop();
if (y ==rows - 18&% x ==cols - 1) {
o et R EE IR T
1 ’ Hol= =710 £

for (int i =0; i <4; i++) {
int nextY =dyli] + vy;
int nextX = dx[i] + x;
if (nextY <0 || nextY >=n ||
nextX <0 || nextX >=m ||
visit[nextYxcols+nextX] ||
continue;

g.push({ {nextY, nextX}, cnt + 1 });

larr [nextY][nextX])

visit[y * cols + x] = true;
} AN

}

delete [] visit; 70l push + HEHEA|




